[N of reco track vs normalized x2 ]

N of associated (r

ecoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

2 2 2 2
Q Q o (5]
g [ 8 g g
< 10 ° = s
] K g
=
10° E
[ r
1022_ .
10F
o i <} =} ) i
3 o4k g 3 2 :
@ ¥ @ 24 24 9
11| g#-F--
X ; H1-lF - B Lot -4 | R
o e 6 18 20 A6 B 1012 14 16 15 20 0 2 4 6 8 10 12 14 16 18 2 E 10 12 14 16 18 20
track x2 track x2 track x2 track x?
T Step et ptasETewgeoTy
[(of e racks e S Bl e R S 29 %F8br-phase1-newgeom =
(%] 1%} 2] 0
x < x x
Q Q [=] (=)
8 8 g 8
() 0] 3 Q
g i -
= :
= .
o .
1
o o g v :
= 2 12 I :
@ @ @ .
SEEEEEEEE [——gooeoocess




	Contents
	Page 1


